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A BIEFER 1 Sv/h] a5 BIEFER[ 1 Sv/n]

’ﬂﬂﬁ BIEXR =x =x =x e ;113-5 AIEH R =1 =1 =1 fw%
100cm 50cm 5cm 100cm 50cm 5cm

1 |EASTAET (AL 0.10 0.11 0.16 21 |BeHEEERET | 009 0.11 0.12

2 |ErsmIBOELT@ED | 010 013 023 22 |[4B=mET 0.10 0.15 0.80

3 |Mz/NERET 0.08 0.09 013 23 |5\ REEE (78) 0.10 0.11 0.12

4 |HABEINEFET 013 0.16 0.30 24 ;;;k’;%ﬂ;%“i% 0.06 0.05 0.06

- T LERMRE

5 |s&zEGL 0.08 0.08 008 25 |Zxs 0.08 0.11 0.19

6 |AEAERETAL| 009 008 0.10 26 |BEHKE () 0.06 0.10 0.11

7 |AERERET@E)| 009 0.09 0.12 27 |BLBEBREMAT 0.10 0.12 025

8 |mig 0.06 0.06 0.07 28 |BLEHKE () 0.07 0.09 0.11

9 |#kpEd® 0.04 0.04 0.04 29 |1m mEE 0.06 0.05 0.06

KEBAEE _

10 | air 0.07 0.11 0.24 30 |3m 5-1 0.06 0.06 0.07

11 |4RBERIE (7) 0.07 0.09 013 31

12 |4RBE@IE (AL 0.08 0.09 013 32

13 |4RBEMIE (3 0.09 0.11 0.14 33

KERAEE

14 | ir 008 0.11 013 34

15 |4RBE@IE () 0.10 0.10 013 35

16 |2HEE ) 0.09 0.08 0.08 36

17 |2 ERE=FET 0.07 0.11 0.21 37

18 |9 RS () 0.11 0.16 0.31 38

19 |#hEHEIE (3 0.09 0.07 008 39

20 |5t REMEIE (db) 0.10 0.15 0.24 40
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